Liebe 10c,

zunéchst die Losung fir die letzte Aufgabe S.111/5:

5. a)tan60°=5:v2 = h=252-tan60° cm =612 cm
V=3 56,12 cm® =51 cm®
h, =v2,5%- 6,122 cm = 6,61 cm
O=520m2+4-0,5-5-6,61Cm2:91,100m2
b)V=%:05-3-5-7cm®=17,5 cm?

Oberflache:
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Skizze:

AC =3 + 52 cm = 5,83 cm

AS? =57+ 72 =74 und AS? = h? 4+ x2
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CS?=3%+7=58 und CS?=h? + (5,83 — x)2
= h2=58-(34-11,66x + x?) = 24 + 11,66x - x?

74 - x? =24 + 11,66x — X2
50=11,66x < x=4,29

= h2=74-4292 = h,=7,46 cm

0=(05-3-5+05:3-7+0,5-5:7+0,5-583-7,46) cm? = 57,25 crm?
c) tan53,2° =g = h=23-tan53,2°cm = 4,01 cm

V=%-05-6%4,01 cm® = 24,06 cm?

AB =32+ 3 cm = 4,24 cm; h_ = 2,122 ¥ 4,017 cm = 4,54 cm

0=05-62cm?+4-0,5- 4,24 - 4,54 cm? = 56,50 cm?

Lost bitte zudem heute S.113/1a, b. Arbeitet dazu den griinen Kasten durch.

Viele GriuRe



